Yo
I

i

Mmoo F E

THMOEEREZE (WRMER) FE (-7.5m) (KR) TF (E2R)

JupN 5 BE B

b3 % BERE

15 B BEEEE
& B BIEREE
BEo#sn IEE
BEES  18-15-23-013



BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

4 [ I - KA BT #H =2 B * H =
BEISEE 88,935, 496
[FE(-7.5m) (KB)] 88,935, 496
BEYRET 38,691, 153
HEIHE 5,283, 358
JL—FUIERE 903, 844
1 JL—FriERE 16. 00 55, 631 890, 096
®
2 295y THER T A 10km 1.00 13, 748 13,748
=
RAREERE R E 83, 580
3 MR E B #E 350KNEY 2.00 41,790 83, 580
=1
AR CS 148, 226
4 THIEMEE 300H x 1, 800L 4.00 35, 645 142,580
=1
5 BHREH E R L& AT ~ NIERfEE 1.00 5, 646 5, 646
=%
BhRGA AL 5> 14, 375
6 BhREH LSy 1.00 14, 375 14,375
=%
R E 248,009
7 EHEERR U BT t=6. 6cm (As) . 30cm (Co) 34.00 4,035 137,190
m
8 PRI 7 FEEmEE t=6. 6cm, t=10cm 272.00 176.1 47,899
m2
9 FRI7IL FREWR L& AT~ NIERGE R 22.00 2, 860 62, 920
m3




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

% # s - Mk E B E B {f E =
T AT 7 I hEEAS 51,700
10 7R 7 7L ks 22.00 2,350 51, 700
m3
RREEXESHE 2,504, 576
11 EREFRE HIVE-28. HIVE-22. PFD-28. PFD-22 335.00 2,302 771,170
m
12 #IEE TILRy o REE 200 x 200 x 100 4.00 3,006 12,024
@
13 BRAER Y U RBE 1.00 81,670 81,670
&
14 REEEEHE () §AE350A (SGP 350A) 314.00 2,530 794,420
m
15 REREREHE Q) & 250A (SGP 250A) 324.00 2,108 682, 992
m
16 EROEERE 1.00 162, 300 162, 300
=
RREEEEREE 318, 958
17 BEHE [-150x75%x9x12.5 61.00 3,334 203, 374
EL
18 a2y 1) — FEERRDIER t=12¢m (Co) 27.00 1,039 28, 053
m
19 avy ) — MREE t=25¢m 56. 00 695. 3 38,936
m2
20 £V )— MEE 6.00 7,767 46, 602
m3
21 £REE t=8cm 1.00 1,993 1,993
m3
RE&7 = v RABE 359, 988
2 R&EJoREE PC-A1500, H2400 (EZ600ff) . PCHBAZ=FI%E 262. 00 1,374 359, 988
m
REE T = Vo REREE 218, 964




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

£ g R - KT BfI 8 2 B M ki & wmE

23 7RI 7L R BT t=5~15cm (As) 271.00 542.9 147,125
m

24 TR I 7L FEEREE t=5~15cm (As) 53.00 176.1 9,333
m2

25 VYY) — KR t=20cm (Co) 13.00 2,915 37,895
m

26 avYY)— FREE t=20cm (Co) 1.00 695.3 695
m2

21 £REE 12.00 1,993 23,916
m3

Ei 357,788

28 R 5y THIEW T R10km 1.00 276,924 276,924
=

29 7R 7 7L MRREK T T & Al ~ AL R 3% 3.00 2, 860 8, 580
m3

30 avy ) — FEGER e T &R ~ AL e E% 23.00 2,032 46, 736
m3

31 EWEER e T &R ~ AL e 2% 12.00 2,129 25,548
m3

no& 73, 350

32 7RI 7L hEAS 3.00 2,350 7,050
m3

33 avyy—kELS ‘|HIVI—F 23.00 2,100 48, 300
m3

34 RS 12.00 1,500 18, 000
m3

LEIHE 980, 008

XGRS EHX) 199, 920

35 ZRMILHSN (EHRK) 28.00 7,140 199, 920
m

tEaH ) — MEE 15, 544




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

£ g g - BAKTE BfI 8 2 B ki £ wmE

36 LEa2H ) — MEE t=10cm 28.00 176.1 4,930
m2

37 a2y ) — FEGEE L& AT ~ NIERfEE 3.00 3,538 10,614
m3

a2 91— s 6, 300

38 avy)— LS |Hay)— 3.00 2,100 6, 300
m3

aVy ) — MEEREBE 214,292

39 oYy — MEEREE t=30cm 165. 00 695. 3 114,724
m2

40 o>y — FEGEE 7 T &AT ~ NIERGEE 49.00 2,032 99, 568
m3

a9 1) — rERAs 112,700

41 3 vy — FRasy oo )—+ 49.00 2,300 112, 700
m3

BRI E 11,834

42 BREBEMEE 47.00 251.8 11, 834
m3

HAERE 68, 468

43 HAEEE 198. 00 345.8 68, 468
m3

REMBE 6, 546

44 pEEMEE 26. 00 251.8 6, 546
m3

TREER 158, 804

45 T RYEEE L& AT~ NIERGE R 116. 00 1,369 158, 804
m3

maws 185, 600




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

4 [} R - KT B B = B M & £ =

46 HEMLS 116. 00 1,600 185, 600
m3

RATHE 32,427,787

ETED 3,224,848

47 EIF () ¢160 [ELE 112.00 7,567 847,504
A

48 HIFL(2) $160 Kep 48.00 49,528 2,377,344
A

RCHRZ - RE 176, 762

49 RCHR LB t=30cm 46. 00 2,915 134,090
m

50 RCHRIZ - IRE 4.5t 8.00 5,334 42,672
&

4 Y—v YR 24,181, 637

51 3voy—rEIRL M) ®50 REL 13.00 16, 382 212, 966
m

52 3> 51— REIR Q) #50 skeh 4.00 140, 365 561, 460
m

53 7 A v — v —Hr (1) $hE REE 55. 00 125, 662 6,911,410
m2

54 7 A v ——HR (2) $AE ke 11.00 366, 895 4,035, 845
m2

55 7 A v — Y —]kx (3) KE BEE 20. 00 123, 049 2, 460, 980
m2

56 7 A v — v —HT (4) KFE  Jkep 26. 00 384,576 9,998,976
m2

a7EIR 4,435, 756

57 a7 HIF. (1) ®200 BEE 20. 00 66, 843 1,336, 860
m

58 a7 HIF.(2) 200 JKep 17.00 182, 288 3,098, 896
m




BERNRE A5 R R R) 2B (-7.5m) (3 B) TH(E2R)
% L R - BAKTE B = L] ) i

avH)—rIJOv Y ER - RE 408, 784

59 avHy— IOy Y B - RE) 4.5tUTF 8.00 4,225 33, 800
&

60 3> y— IOy ER - REQ) 4 5t%8B27.5tUTF 8.00 6,173 49, 384
&

61 a>YU—+JRYYEWR - REQ) 12.5t%BX22. 0tUT 32.00 10,175 325, 600
&

AET 18, 426, 871

kIO vs T 9,651, 881

BEMERIO Y EE 8,209,115

62 EIHKEIOv Y EEN) 7-AyINBFE! (Z#HH) 5.00 343,030 1,715,150
&

63 EIEE IOy Y EE Q) 0-ny4NBFE! 5.00 340, 927 1,704, 635
&

64 EIEETO Y Y EEQ) -y INBE! 5.00 333, 590 1,667, 950
&

65 2 L—2H® 1.00 3,121, 380 3,121,380
=

kDO 671,216

66 EILHKR IOy Y& - B () NBFZ221. 0t/{&. NBFE! ({&RfR+¥ER{tFR) 20. 3t/{@ 28.00 14,797 414,316
&

67 EILHER IRy Y ER - B2 NBZ420. 4t/{& 14.00 18, 350 256, 900
&

TLF v R EREME 704, 644

68 $kAAINTHAST SD345 D13 47900 189 90, 531
kg

69 BEHMEE ®13 L=780mm 56. 00 385 21,560
PN

70 BEkAR#ET ®13 L=780mm 45.00 95 4,275




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)
2 o] B - AR Bif u B i %8 %

AR E T A =) 79.00 4,697 371,063
m2

12 a9 ) — MTER 24-12-20BB W/C65% 9.00 24,135 217,215
m3

Tl & v X MMREW - B4 66, 906

13 TL¥F v R MREHE - B4 14.00 4,779 66, 906
@

REaHY—+ 6,901,572

RAWBLE S — FEER 398, 748

14 JTA WBIES — M EER 188. 00 2,121 398, 748
m2

iR 805, 061

75 ERRXERE [-380 x 100 x 13 % 20 4.00 135, 360 541, 440
i

16 EERZREMHEE 1.00 263, 621 263, 621
%

F> 3 2,100, 296

77 $kErhTHAST (1) IR¥HHEERAES SD345 D13 1, 356. 00 291 394, 596
kg

18 kAR THAST (2) IR¥HEERAE SD345 D16 2,992.00 284 849, 728
kg

79 kAR THAST (3) IR¥HHEERAES SD345 D19 3, 068. 00 279 855,972
kg

B 500, 324

80 SEBUEY 4R 7T M5 Keh 22.00 22,742 500, 324
m2

avyy—+k 3,097,143

81 KPR BT > ) — MTER 24-50-20BB W/C50% 63. 00 49, 161 3,097, 143

m3




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

£ g g - BAKTE BfI 8 2 B M ki £ wmE

TE@EmavoyU—+hk 1,873,418

avyy—+ 1,873,418

82 a2y )— MMTH 18-8-40BB W/C50% 39.00 23,910 932, 490
m3

83 KeparH ) — FITER 30-15-40BB W/C50% 32.00 29, 404 940, 928
m3

LET 19,187,471

o y—FI 3,082, 647

R 228, 480

84 X RMIHSN (EHK) 32.00 7,140 228, 480
m

Eilp s 250, 125

85 SRR AT M (EHRN) 25.00 10, 005 250, 125
m2

CEHEE 72, 306

86 {HfE R Hh BEEMHMEER 27.00 2,678 72, 306
m2

E33:0] 550, 124

87 #xmmnITHAI (1) SD345 D13 892.00 197 175,724
kg

88 #xAhinTHAI (2) SD345 D16 1, 920. 00 195 374, 400
kg

avyy—+ 1,981,612

89 a2y )— MMTH 24-12-20BB W/C65% 82.00 24,166 1,981, 612
m3

g5V R7UhA—TI 16, 104, 824




HERNRE SIS E R B0 RHR) B (-7 5m) (B R) TE(E2R)
£ g R - KT BfI 8 2 fili & i

59 K7 o h—Ei# 5,122, 562

90 SABE ARSI MAN E AKX 95. 00 9,676 919, 220
m2

91 i E EESMEER 15. 00 2,678 40,170
m2

92 $kERANTHASL (1) SD345 D13 3, 256. 00 194 631, 664
kg

93 #kFAMNTHANL (2) SD345 D16 456. 00 192 87,552
kg

94 chigrgL 37.00 1,239 45,843
m2

95 325 )—HTEH 24-12-20BB W/C65% 131.00 23,508 3,079, 548
m3

96 BIFL (N> FUL) 19 x130L 224.00 553 123,872
)

97 T35 K7 o h—BEBRHHE 1.00 194, 693 194, 693
=

EEEPYEEL 266, 338

98 SMBE AN EAHNX) 15.00 9,676 145, 140
m2

99 {mifs B th BEEMHMEER 1.00 2,678 2,678
m2

100 a>5 )— MTH 24-12-20BB W/C65% 5.00 23, 704 118, 520
m3

TFUoh—IHHE 3,432,000

101 7o h—#HE F40TA L=36. 08m 1.00 3, 432, 000 3, 432, 000
=

Hi7L 5, 400, 790

102 I (1) ¢ 135mm (BPEL) HIFLEZRL=30 83.00 11, 630 965, 290
m

103 HI7 (2) H135mm(EREY L) HIALELZ30 157.00 23,550 3,697, 350




HEEWERE A5 2 A (0 R ) B B (-7 5m)(2k B TH(E2K)
£ b R - AR B 2 i ) i
104 AI7L (3) ¢ 135mm (&5) BIFLZRL=30 37.00 19, 950 738,150
m
FUR-SAM T -4 - 1A - BROR - B - BEED 259, 520
AR (FUh-)
105 7Uh-SHAA DT -#A~L - fE A BRER-ERH 8.00 32, 440 259, 520
-BBERALEE (7U0-) *
T3 REA 706, 030
106 9’5 REA 24N/mm2. W/C=50% 13.00 54,310 706, 030
m3
VDR 917, 584
107 2>y )—rERE MEE&EEL T790x790x100 W=156kg 8.00 9,698 717,584
Gl
108 avy)— FEHHE B AE & R R - 1.00 840, 000 840, 000
=
MET 1,236, 249
T AT 7L MEET (RIKER 1,236, 249
HERL 138, 849
109 R L 155. 00 895.8 138, 849
m3
EES 72,334
110 TRk BAH799430 RC-40 t=15cm 118. 00 613 72,334
m2
N=F=3" 87,084
111 EEiRE BIERARBRA M-40 t=15cm 118. 00 738 87,084
m2
H= 637, 908
12 754 La—+ PK-3 118. 00 17 13, 806
m2

10




BRHERRE SHSEE B R iR R E(-7.5m) (BB THEHE2R)
£ [ g - BIKHE Bifr = fifl ® 5B i
13 &= BHEHAEASESY (20) t=15cm 118. 00 5, 289 624, 102
m2
=E 300,074
M4 2y9a—F PK-4 118.00 36 4,248
m2
115 KRB BEBNEASEEY (20) t=bcm 118. 00 2,507 295, 826
m2
eI 11, 393, 752
eI 11, 393, 752
AT 997, 996
116 ZEE T FH 4 350KNE! 2.00 26, 460 52,920
H
17 RAsehsEER AT FH 4 350KNE! 2.00 469, 730 939, 460
H
118 {RfEhiEEE FH 4 350KNE! 2.00 2,808 5,616
m2
FEf%&A T 8,574, 648
119 1A Eft 4.00 19,524 78, 096
H
120 FHf%# ERAF VZY-300H x 3100L LA £ 4.00 2,124,138 8, 496, 552
H
BHit - BE2YI 1,821,108
121 BEEER{L (1) L=7. 74m, L=4.00m 23.00 50, 272 1,156, 256
m
122 BEIEE{T(2) L=2. 00m 4.00 49,613 198, 452
m
123 B &Pt 32.00 14,575 466, 400
m
HEREE FEL) 4,763,618

11




BEANRE SRN5EREFEE A R )R B (-7.5m) (B B) TH(H2R)

% R R - RARSTiE BfL % 8 B ® # m o=
HBREH 4,763,618
HBEREE 4,763,618
ERE 2,195,418
EERmaR EFE R 2,143,898
124 5 FRHB 1SR on0—3%9L—r (HEEREHK)100t H 1.00 2,143,898 2,143, 898
=
FETZE- 330 51,520
125 50 L IRE ik *E 1.00 51,520 51,520
=
EREXHIEERE 2,568, 200
KEF AN IEE 2,568, 200
126 5&EBILIRERE 40. 00 6,136 245, 440
m
127 5&Eb L REE 40. 00 5,720 228, 800
m
128 5B LR E# 1.00 1,691,980 1,691,980
=
129 5AMILERSTEE 1.00 401, 980 401, 980
=

12




SHSEEEEEW RMR)FECTsmER)THEE2R)

% g R - KSR Bifr 2 il & B W =
EEIEE 88, 935, 496
MEIEE 11,321,273 + 23,821,008 35, 142, 281
HERERE GDH 4,763,618 + 5,956,890 + 600, 765 11,321,273
HBRBE (FEL) 4,763,618
HBERER (R) 91,503,696 x 6.51% ((4.88% x1.00 +1.50% x 1.02) 5,956, 890
RSRERES 91,025,061 x 0. 66% 600, 765
Regng 100,256, 769 x 23.76% ((21.82% +1.25%) x 1.03) 23,821,008
TER 88,935,496 + 35,142, 281 124,077,771
—REEES 124,077,777 x 16.63% (16.63% x 1.00) — 5,142 20, 628, 992
LR E 124,077,777 x 0.04% 49, 631
RISy 7T -2, 486, 400
T &l 124,077,777 + 20,628,992 + 49,631 — 2, 486, 400 142, 270, 000
HETR SR L 142,270,000 x 10.00% 14, 227,000
FEIZRE 142,270,000 + 14,227,000 156, 497, 000




Rifiz -/ \v7r—o

DHSFE B R R FE-T5m(BR)THR(E2R)

&5 1
W JL—FrorERE 1MEY (480
2 b g - BIRTE By = BHO(f %8 # " =
SOTL—29L—r [hEEBES J8E]  16tH
B 1.00 41, 200. 00 41, 200
HEER
A 1.00 26, 150. 00 26, 150
BET
A 1.00 217,720.00 217,720
HIRIEXS
A 2.00 21, 740. 00 43, 480
LTEEXE
A 2.00 18, 690. 00 37, 380
AR EEH
= 1.00 36, 000. 00 36, 000
MR 2E0%
% 5.00 211, 930. 00 10, 596
& B 1EZHED : 4. 0081 55, 631. 00 222,526
5.2
B RO Ty THHER  HA10km 1%y
2 b g - BIRTE By = BHO(f %8 # " =
BEYBEHEESR
= 1.00 9, 548. 00 9, 548
HEIL - #EAAHER
= 1.00 4, 200. 00 4,200
& Hi 1E%HeH - 1.00K 13, 748. 00 13,748
53
£ F5 : RAERAEIE  HB4E350KNEY 1HEY (2F)
2 b g - BIRTE By = BHoO(f %8 # " =
RS 1+ A 51 73150kN~ 1000kN=R ;i
= 2.00 41, 790. 00 83, 580
& Hi 1E%HEDN : 2. 00K 41, 790. 00 83, 580




Rifiz -/ \v7r—o

DHSFE B R R FE-T5m(BR)THR(E2R)

Hz5 .4
L : BHfEA A 300Hx 1, 800L 1BEY (6H)
£ b g - BIRTE BAf = B O ® # " =
TRk E H=250mmLA L500mmKF o L—ik=
H 5.00 217, 405. 00 137,025
STFL—r9L—r A ARER) ChEfES IR 16tH
B 1.00 41, 200. 00 41,200 8H
& Hi 1E%HEN : 5. 00& 35, 645. 00 178, 225
F5 .5
ZF5 : BIREAERR T AT~ QB B
£ b g - BIRTE BAf = B O ® # " =
BEYBEHEER
= 1.00 3,921.00 3,921
BREL - EAHER
= 1.00 1,725.00 1,725
& Hi 1E%HeH - 1.00K 5, 646. 00 5, 646
5 :6
¥ B LS 1LY
£ b g - BIRTE BAf = B O ® # " =
nne
t 1.15 12, 500. 00 14, 375
& B 1E%HeH - 1.00K 14, 375. 00 14, 375
&5 .1
LW SRR t=6. 6cm (As) . 30cm (Co) Tmy
£ b g - BIRTE BAf = B Ol ® # " =
D t=6. 6¢m (As) . 30cm (Co)
m 1.000 4,035 4,035
& Hi E%8EH : 1.00m 4,035 4,035




Rifiz -/ \v7r—o

DHSFE B R R FE-T5m(BR)THR(E2R)

5.8
£ TRI7IL MMEEREE  t=6. 6cm. t=10cm Tm2%4y
£ b g - BIRTE BT = L= i %8 # " =
T AT 7L AR t=6. 6cm. t=10cm
m2 1.000 176. 1 176. 1
& Hi YEEREN :1.00m 2 176. 1 176. 1
5.9
B TRI7IL REGER  TEIT BT~ LR Im3%Y
£ b g - BIRTE BT = L= i %8 # " =
7 A7 I FRRER e T & AT~ IR R E%
m3 1.00 2,860 2,860
& Hi YEZ¥EREN :1.00m 3 2,860 2,860
= :10
ZH: PRI 7IL RO Tm3%Y
£ b g - BIRTE BT = L= i %8 # " =
N TAI77IL L&
m3 1.000 2,350.00 2,350
& B 1E%HEH : 1.00m 3 2,350.00 2,350
&5 11
&% EfREERE HIVE-28, HIVE-22, PFD-28. PFD-22 mHY (100m)
£ b g - BIRTE BT = L= i %8 # " =
HEER
A 1.20 26, 150. 00 31, 380
BT
A 7. 40 24, 050. 00 177,970
HMEB (E+FEDH0) 2RD%
% 10. 00 209, 350. 00 20, 850
& Hi YEZERESD : 100. 00m 2,302.00 230, 200




Rifiz -/ \v7r—o

DHSFE B R R FE-T5m(BR)THR(E2R)

&5 .12
L B TILR Y o A#E 200 x 200 x 100 ALY
2 b g - BIRTE By = B ) # " =
BT
A 0.125 24,050. 00 3,006
HHE (F50)
= 1.000 3,006. 00 0
& Hi 1EZHEH 1. 001& 3,006. 00 3,006
5 :13
B BRAERY U REE 185
2 b g - BIRTE By = B ) # " =
HEEE
A 1.00 26, 150. 00 26, 150
BT
A 2.00 24, 050. 00 48,100
EME (E+FEHH) ELNOY
% 10. 00 74, 250. 00 1,420
& Hi 1E%HeH - 1.00& 81, 670. 00 81,670
&S 14
B RERERXEHE (1) $HE350A (SGP 350A) mEY (50m)
2 b g - BIRTE By = B ) # " =
SOTL—29L—r hEEmES J8]  25tH
B 0.50 44,900. 00 22,450
HEEE
A 1.00 26, 150. 00 26, 150
BET
A 0.50 217, 720. 00 13, 860
HIRIEXS
A 1.00 21, 740. 00 21,740
LEEXS
A 2.00 18, 690. 00 37, 380
EME (E+FEHH) FHEED%
% 5.00 99, 130. 00 4,920
& Hi 1YEZHES : 50.00m 2,530.00 126, 500




Rifiz -/ \v7r—o

DHSFE B R R FE-T5m(BR)THR(E2R)

&5 :15
B IRERERXEHE (2)  $HE250A (SGP 250A) m&HY (60m)
2 b R - BAKTiE By o = B & ) i E " =
STFL—rHL—r [HERBESIE]  25tH
B 0.50 44,900. 00 22,450
HEEE
A 1.00 26, 150. 00 26, 150
BEL
A 0.50 217,720.00 13, 860
B EXE
A 1.00 21, 740. 00 21,740
LTEEXE
A 2.00 18, 690. 00 37, 380
EME (E+EDH0) FHEED%
% 5.00 99, 130. 00 4,920
& Hi YEZERED : 60.00m 2,108.00 126, 500
&5 :16
2% BEORAKE 12&4Y
2 b R - BAKTiE By H = B & ) i E " =
HEEE
A 1.00 26, 150. 00 26, 150
BEL
A 0.50 217,720. 00 13, 860
B EXE
A 1.00 21, 740. 00 21,740
LEEXS
A 2.00 18, 690. 00 37, 380
Ny RNy R FHER2R) (P B—F 1UFE0.45m 3 (FFE0.35m 3) U L—22.9t
) il &/H 1.00 53, 337. 00 53,337/6.30H / 8H
EME (E+EDH0) FHEDY
% 10. 00 99, 130. 00 9,833
& Hi 1E%HeH - 1.00K 162, 300. 00 162, 300




Rifiz -/ \v7r—o

DHSFE B R R FE-T5m(BR)THR(E2R)

&5 11
&% BEHE [-150x75%x9x12.5 ERED
£ b g - BIRTE By = it ® W = " =
HEER
A 0.05 26, 150. 00 1,307
LEEXS
A 0.10 18, 690. 00 1,869
HMEB (E+FEDH0) 2E0%
% 5.00 3,176.00 158
& Hi 1YE%HEH 1. 00 FRr 3,334.00 3,334
&5 :18
£ a2 ) — FMEZERRYIET  t=12cm (Co) Tm%Y
£ b g - BIRTE By = it ® W E " =
a9 ) — EERR I BT t=12¢m (Co)
m 1.000 1,039 1,039
= it YEZEREDN : 1.00m 1,039 1,039
&5 :19
&% a2y ) — MEEE  t=25cm Tm2%4y
£ b g - BIRTE By = it ® W E " =
a9 ) — MRiEBE t=25cm
m2 1.000 695. 3 695. 3
& Hi YEEREN : 1.00m 2 695.3 695. 3
&5 :20
&% EEaL o) — MEE Tm3%Y
£ b g - BIRTE By = it ® W = " =
EEREEY B HEELT FIHE 8k
m3 1.000 7,767.00 1,767
HHE (F50)
= 1.000 7,767.00 0
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& Hi YEZERESN - 10.00m 3 23, 704. 00 237, 045
&5 . 101
B Toh—#$EE FI0TA L=36.08m 1%y
2 b g - BIRTE By = BHoO(f ® # " =
JSURF7Uh— FA0TA L=33.00m Ej&&3. 00m (REKO. 08mE
) L=25.0m 2 6. 00 427, 000. 00 2,562,000
JSURF7Uh— FA0TA L=33.00m Ej&&3. 00m (REKO. 08mE
) L=27.0m A 2.00 435, 000. 00 870, 000
& Hi 1E%HeH - 1.00K 3,432, 000. 00 3,432,000
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&5 :102
L% BEIFLA) ¢o135mEEL) EHIFERLZ30 Tm%HyY
2 b g - BIRTE By = il %8 # fi&
HilFL (1) o 135mm(Bh&E L) HBlIFL2RL=30
m 1.000 11, 630 11, 630
& Hi YEZHESN - 1.00m 11, 630 11, 630
&5 :103
£ HIFLQ) o135m(EREVY L) HIFLEREL=Z30 Tm%HyY
2 b g - BIRTE By = il %8 # fi&
BTl (2) H13m(ERREY L) HIFLERLZ30
m 1.000 23, 550 23, 550
& Hi YEZHESN - 1.00m 23, 550 23, 550
&5 : 104
%5 HIFL() ¢ 135mm (ERE) HIFLE£RL=30 Tm%yY
2 b g - BIRTE By = il %8 # fi&
Bl FL (3) ¢ 135mm (&) HIfL£RL=30
m 1.000 19, 950 19, 950
& Hi YEZHESN - 1.00m 19, 950 19, 950
&5 : 105
B TUh-SRM NI 4RSI R A BRSR- TE7E -BEERALEE (PUh-) 1K%Y
2 b g - BIRTE By = il %8 # fi&
TUh-SRAT NI -4A5L - A BRER-EE - BESRAL
18 (7Uh-) ZN 1.000 32,440 32,440
& Hi 1E%HERN - 1. 00K 32,440 32,440
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&5 : 106
& TS REA 24N/mm2, W/C=50% Tm3HY
2 b g - BIRTE BT H = B O %8 # " =
59 MEA 24N/mm2., W/C=50%
m3 1.000 54,310 54,310
& Hi 1E%HEH : 1.00m 3 54,310 54,310
&5 . 107
£ aAVY)—FERE MHEEST 790x790x100 W=156kg ERED)
2 b g - BIRTE BT H = B O %8 # " =
HEER
A 1.00 26, 150. 00 26, 150
HIRIEXS
A 1.00 21, 740. 00 21,740
LEEXS
A 1.00 18, 690. 00 18, 690
FSvo O L—r LhEEED ITE] 4. 9t
B 1.00 30, 400. 00 30, 400
& Hi 1YEZHES - 10. 00 FR 9, 698. 00 96, 980
&5 :108
£ oYy ) — FEMHEE ESAESREEHRI))- P 1LY
2 b g - BIRTE BT H = B O %8 # " =
avyy—+E EBeRESREtEmEa ) — bR
® 8.00 105, 000. 00 840, 000
& Hi 1E%HeRH - 1.00K 840, 000. 00 840, 000
&5 :109
2% EBRL Tm3%Y
2 b g - BIRTE BT B = B Ol %8 # " =
HRL
m3 1.000 895. 8 895. 8
& B 1E%HEH : 1.00m 3 895. 8 895. 8
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2 b g - BIRTE By = B O %8 W = " =
BRAEAT BEYVSv¥v¥3> RC—40
m3 192. 00 2,350.00 451, 200
TIL F—H GEH AR RE) 3tk
B 0.90 40, 038. 00 36,034/5.30H / 8H
REIO—3 (BEE A R xHERED) kX av/\M YRR 3~4t
B 0.80 37, 207. 00 29,765/4.00H / 8H
LTEEXE
A 5.00 18, 690. 00 93, 450
MR EXENOY
% 0.50 610, 449. 00 3,052
& B YEZERES - 1,000.00m 2 613.00 613, 501
E5 11
£ LB RERERA N-40 t=15cm 1000m 2 H Y
2 b g - BIRTE By = B O %8 W E " =
BRAEAT RIERAERT N-40
m3 192. 00 3, 000. 00 576, 000
TIL F—H GEH AR RE) 3tk
B 0.90 40, 038. 00 36,034/5.30H / 8H
REIO—3 (BEE A X5 ERED) kX av/\1 YRR 3~4t
B 0.80 37, 207. 00 29,765/4.00H / 8H
LEEXS
A 5.00 18, 690. 00 93, 450
MR EXENOY
% 0.50 735, 249. 00 3,676
& H EZ4eH - 1,000.00m 2 738. 00 738,925
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BBS 112
&M IS4 La—+ PK-3 1000m 2 H Y
2 b g - BIRTE BT o = B O %8 W = " =
TRAI7IL RELA PK-3
L 1,020. 00 110. 00 112, 200
F4RALJE21—4 BiED 2000~3000L
B 0.06 45, 065. 00 2,703/4.70H / 8H
MR MHEEDY
% 2.00 112, 200. 00 2,244
& H 1E%8EH - 1,000.00m 2 117.00 117,147
ES 113
& EE BAEHAEASESY (20) t=15cm 1B%Y (3710m2)
2 b g - BIRTE BT H = B O %8 W E " =
TAITWNES BHEHEMEAS (20)
t 136. 95 11, 400. 00 1,561, 230
FAI7ILEITa=vir HEAR®E (Y RA—FF 2.4~6.0m
) B 1.00 82, 050. 00 82,050/1.00H / 8H
A—FA—3 G A X RRE) THE L 10~12t
B 1.00 43, 089. 00 43,089 1.00H / 8H
A4 0O—7 (B A A xKRE) 8~20t
B 1.00 43, 680. 00 43,680 1.00H / 8H
HEER
A 1.00 26, 150. 00 26, 150
HIRIEXS
A 4.00 21, 740. 00 86, 960
LEEXS
A 5.00 18, 690. 00 93, 450
MR FHEEDY
% 10. 00 206, 560. 00 20, 656
& B YEZERES : 370.00m 2 5,289.00 1,957, 265
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L 310. 00 110. 00 34,100
F4RALJE21—4 BiED 2000~3000L
B 0.03 45, 065. 00 1,351/4.70H / 8H
MR MHEEDY
% 2.00 34, 100. 00 682
& H EZ4eH - 1,000.00m 2 36. 00 36,133
&S . 115
&% kB BEEREASESH (20) t=5cm 1B%Y (3710m2)
2 b g - BIRTE By = BHO(f %8 W E " =
TRITVNES BEEREAS (20)
t 45.07 11, 800. 00 531, 826
FAI7ILEITa=vir HEAR®E (Y RA—FF 2.4~6.0m
) B 1.00 82, 050. 00 82,050/1.00H / 8H
A—KFA—3 (BEE A X5 ERED) THhHEL 10~12t
B 1.00 43, 089. 00 43,089 1.00H / 8H
A4 0O—7 (B A A xKRE) 8~20t
B 1.00 43, 680. 00 43,680 1.00H / 8H
HEER
A 1.00 26, 150. 00 26, 150
HIRIEXS
A 4.00 21, 740. 00 86, 960
LEEXS
A 5.00 18, 690. 00 93, 450
MR FHEEDY
% 10. 00 206, 560. 00 20, 656
& B 1E%HEH : 370.00m 2 2,507.00 927, 861
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%5 ST H4E350KNEY 1HEY (2#)
2 b g - BIRTE By = B O %8 # " =
ELERGHEET 150 — 700kNR i
H 2.00 17,010. 00 34,020
ZEEET 150—700kNR ;&
H 2.00 9, 450. 00 18, 900
& B 1E%HEDN : 2. 00K 26, 460. 00 52,920
&5 117
L2 F5 : (RARERATERST HE4E350KNEY 1HEY (2#)
2 b g - BIRTE By = B O %8 # " =
Rt pH4E 350KN
= 2.00 405, 000. 00 810, 000
fRARAEER 150—1000kNK % (BE L) ¥ L— 3k &
= 2.00 56, 490. 00 112, 980
STFL—29L—r A AR ER) ChEES IR 16tH
B 0. 40 41, 200. 00 16, 480 8H
& Hi 1E%HEDH : 2. 00K 469, 730. 00 939, 460
&5 : 118
B RAREIAEEE  ghiE350KNE 100m2 %Y
2 b g - BIRTE By = B O %8 # " =
R EE THE+ L% (2E)
m2 100. 00 2,808. 00 280, 800
& Hi YEZERES : 100.00m 2 2,808. 00 280, 800
&5 : 119
2 F5 : EAERST 1HEY (9£)
2 b g - BIRTE By = B Ol %8 # " =
AR AT H=250~500mm>& 5 (B L)
= 9.00 19, 524. 00 175,716
& Hi 1E%HEDH : 9. 00K 19, 524. 00 175,716
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&5 :120
&% BAEMERAT  VE!-300H x 3100LLL L 1BEY (9F)
£ 5 L - BIRTiE BAf = B & % = & &
Bt = P REVEL B %44 300H x 3300L
H 9.00 2,100, 000. 00 18, 900, 000
FhfigAt B At H=250~500mmK & (EL) ¥ L— 3k E
H 9.00 19, 561. 00 176, 049
STFL—r9L—r A ARER) GhEmRiET JE) 16tH
B 1.00 41, 200. 00 41,200 8H
& Hi 1E%HEDN ;9. 00K 2,124,138.00 19,117, 249
= 121
&% BHibEE (1) L=7. 74m, L=4.00m 100m¥% Y
£ 5 L - IRTiE BAf = B & # = & &
Bk AR e S GERE)
m 100. 00 46, 400. 00 4,640, 000
B E T ZREGE JL—mE
m 100. 00 3,213.00 321, 300
STFL—r9L—r A ARER) GhEmRES JE) 16tH
B 1.60 41, 200. 00 65, 920 8H
& Hi 1EZ%HEH : 100.00m 50, 272. 00 5,027, 220
5 :122
&% EAEEAT (2)  L=2.00m 100m4 Y
£ 5 L - BIRTiE BAf = B & % = ik &
Bk AR e S GERE)
m 100. 00 46, 400. 00 4,640, 000
B E ZREGE JL—mE
m 100. 00 3,213.00 321, 300
& Hi 1EZ%HEH : 100.00m 49, 613. 00 4,961, 300
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B5 123
& BEWERst 100mZ Y
% b 3R - ks Bf £ B £ & & &
BeW 100x 1007 LS8 ) —< o4 T EEE
m 100. 00 13, 000. 00 1, 300, 000
BEYERT ZREG
m 100. 00 1,575. 00 157, 500
A & YE%825 - 100.00m 14, 575. 00 1,457,500
BES 124
B DEMEER 00— L—2 GREERSNK) 100 t F 1%y
% b 3R - ks Bf £ B £ & & &
STFL—2Y L—y A ARER) GhEMHES &) 60t R
=] 3.10 87, 400. 00 270, 940/|8H
237 TE =
A 11.30 21, 740. 00 245, 662
ERBEER BEEB D%
% 315.00 516, 602. 00 1,627,296
A & EZRES 1,00 2,143, 898. 00 2,143, 898
&S 125
2% EAILEER F1E IEED
% b 3R - ks Bf £ B £ & & &
EYMBEEHEES
= 1.00 51, 520. 00 51,520
A & EZRES 1,00 51, 520. 00 51,520
&S 126
B HAEMILREE 120m Y
% b 3R - ks Bif £ B £ & & &
EBHIEERE EEY L—2AH
m 120. 00 6, 136. 00 736, 320
A & YE%E2H : 120.00m 6,136.00 736, 320
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&5 127
%5 BAELERE 120m¥& Y
2 b g - BIRTE By = BHO(f ® # " =
BB ERE EEY L—2idds
m 120. 00 5,720.00 686, 400
& Hi YEZERED : 120.00m 5,720.00 686, 400
&5 :128
2 FAEMLEESN 1LY
2 b g - BIRTE By = BHO(f ® # " =
EEbILES R
= 1.00 1,691, 980. 00 1,691,980
& Hi 1E%HeH - 1.00K 1,691, 980. 00 1,691,980
&5 :129
&5 BAMLEBERTER 14y
2 b g - BIRTE By = BHO(f ® # " =
BB LR SR BLEESRAEERSHY) 100mKiE
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